



Jacobson's lemma and Cline's formula for minimal rank weak Drazin inverses

Cang Wu^a, Jianlong Chen^{b,*}, Yuanyuan Ke^c

^aCollege of Science, Nanjing Forestry University, Nanjing 210037, China

^bSchool of Mathematics, Southeast University, Nanjing 210096, China

^cSchool of Artificial Intelligence, Jiangnan University, Wuhan 430056, China

Abstract. Minimal rank weak Drazin inverses of a square complex matrix M are solutions to the matrix equation $XM^{k+1} = M^k$ with the minimal rank, covering a large class of generalized inverses. In this paper, minimal rank weak Drazin inverses of $I_n - BA$ (resp. BA) are expressed in terms of that of $I_m - AB$ (resp. AB), where A and B are $m \times n$ and $n \times m$ complex matrices, respectively.

1. Introduction

The notion of minimal rank weak Drazin inverses was introduced by Campbell and Meyer [2] in 1978 for square complex matrices. Over the years, various generalized inverses have been introduced and studied intensively, such as core inverses [1], core-EP inverses [22], DMP inverses [15], weak group inverses [24], and weak core inverses [10]. They are all special classes of minimal rank weak Drazin inverses [25]. In this paper, Jacobson's lemma (resp. Cline's formula) for minimal rank weak Drazin inverses is established by expressing minimal rank weak Drazin inverses of $I_n - BA$ (resp. BA) in terms of that of $I_m - AB$ (resp. AB), where A and B are $m \times n$ and $n \times m$ complex matrices, respectively.

Throughout this paper, rings are associative with identity. Let I_n be the identity matrix of order n , and let $\mathbb{C}^{m \times n}$ be the set of all $m \times n$ complex matrices.

A square matrix A over a ring R (i.e., entries of A are taken from R) is called Drazin invertible if there exists a matrix X over R such that

$$XA^{k+1} = A^k \text{ for some } k \geq 0, \quad AX^2 = X, \quad AX = XA. \quad (1)$$

Such an X is unique when it exists, and it is called the Drazin inverse of A and denoted by A^D . The smallest k satisfying the above condition is called the (Drazin) index of A and denoted by $\text{Ind}(A)$.

2020 *Mathematics Subject Classification.* Primary 15A09; Secondary 15U90.

Keywords. Jacobson's lemma; Cline's formula; minimal rank weak Drazin inverse; χ -inverse; strong π -regularity.

Received: 21 April 2024; Accepted: 23 November 2024

Communicated by Dragana Cvetković Ilić

This research was supported by the National Natural Science Foundation of China (Grant No. 12171083; Mathematics Tianyuan Fund, Grant No.12426643) and the Research Fund of Jiangnan University (Grant No. 2023JCYJ10).

* Corresponding author: Jianlong Chen

Email addresses: cang_wu@hotmail.com (Cang Wu), jlchen@seu.edu.cn (Jianlong Chen), keyy086@126.com (Yuanyuan Ke)

ORCID iDs: <https://orcid.org/0000-0002-5487-6361> (Cang Wu), <https://orcid.org/0000-0002-6798-488X> (Jianlong Chen), <https://orcid.org/0000-0003-1123-5289> (Yuanyuan Ke)

While every square complex matrix is Drazin invertible, this is not the case for square matrices over a general ring. Actually, the necessary and sufficient condition for a square matrix A over a ring to be Drazin invertible is that A is strongly π -regular, i.e., there exist matrices S and T over the ring such that $SA^{p+1} = A^p$ and $A^{q+1}T = A^q$ for some $p, q \geq 0$. In this case, $p, q \geq k$, and $SA^{k+1} = A^k = A^{k+1}T$, where $k = \text{Ind}(A)$ [8, 9].

In [2], Campbell and Meyer introduced the notion of weak Drazin inverses for square complex matrices, which are more easier to compute than Drazin inverses and can be used in place of Drazin inverses in many cases. Recall that a matrix X is a weak Drazin inverse of A if $XA^{k+1} = A^k$ for some $k \geq 0$. In particular, weak Drazin inverses X satisfying $\text{rank}(X) = \text{rank}(A^D)$ (or equivalently, with the minimal rank) are called minimal rank weak Drazin inverses of A .

In the recent paper [25], some properties and characterizations of minimal rank weak Drazin inverses were given, and many generalized inverses introduced in the last decade were shown to be special classes of minimal rank weak Drazin inverses. According to [25, Theorem 2.1], $X \in \mathbb{C}^{n \times n}$ is a minimal rank weak Drazin inverse of $A \in \mathbb{C}^{n \times n}$ if and only if

$$XA^{k+1} = A^k \text{ for some } k \geq 0, \quad AX^2 = X. \quad (2)$$

Let A and B be $m \times n$ and $n \times m$ matrices over a ring, respectively. Jacobson's lemma (cf. [12, pp. 3–4]) states that if $I_m - AB$ is invertible, then so is $I_n - BA$, with

$$(I_n - BA)^{-1} = I_n + B(I_m - AB)^{-1}A. \quad (3)$$

Let a, b be two elements of a ring. In 2009, Patrício and Veloso da Costa [21] asked whether the Drazin invertibility of $1 - ab$ implies that of $1 - ba$, and if so then whether the indices of $1 - ab$ and $1 - ba$ are equal. Later, this question was answered affirmatively by Patrício and Hartwig [20] and by Cvetković-Ilić and Harte [7]. In [3], Castro-González, Mendes-Araújo and Patrício gave an explicit formula that expresses $(1 - ba)^D$ in terms of $(1 - ab)^D$:

$$(1 - ba)^D = 1 + b\left((1 - ab)^D - (1 - ab)^{\pi} \sum_{i=0}^{k-1} (1 - ab)^i\right)a, \quad (4)$$

where $(1 - ab)^{\pi} = 1 - (1 - ab)^D(1 - ab)$ is the spectral idempotent of $1 - ab$ and $k = \text{Ind}(1 - ab)$. And in [13], Lam and Nielsen gave another formula to show that

$$(1 - ba)^D = \left(1 - b(1 - ab)^{\pi}a\right)^k + b(1 - ab)^D a. \quad (5)$$

In recent years, it has been shown that Jacobson's lemma has suitable analogues for various generalized inverses, and some generalizations of Jacobson's lemma have been made by studying relationships between generalized inverses of $I_m - AB$ and $I_n - CD$, when A, B, C, D satisfy some suitable conditions (cf. [4, 6, 14, 16–19, 26, 27]).

In Section 2 of this paper, we show that Rao and Mitra's χ -inverses are minimal rank weak Drazin inverses for complex matrices with indices no more than 1, and give a new characterization of minimal rank weak Drazin inverses. In Section 3, we study Jacobson's lemma for minimal rank weak Drazin inverses. Since such generalized inverses of a matrix generally do not commute with that matrix, the methods of [3] and [13] are no longer applicable. A new method is used to show that, for $A \in \mathbb{C}^{m \times n}$ and $B \in \mathbb{C}^{n \times m}$, if G is a minimal rank weak Drazin inverse of $I_m - AB$, then

$$(I_n - BA)^k (I_n + BGA)^{k+1} = I_n + B\left(G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G]\right)A$$

is a minimal rank weak Drazin inverse of $I_n - BA$, where $k = \text{Ind}(I_m - AB)$. In a related direction, Cline's formula for minimal rank weak Drazin inverses is given by showing that if G is a minimal rank weak Drazin inverse of AB then BG^2A is a minimal rank weak Drazin inverse of BA .

2. Minimal rank weak Drazin inverses and χ -inverses

Recall that in case $\text{Ind}(A) \leq 1$, the Drazin inverse A^D is called the group inverse of A and denoted by $A^\#$.

In 1971, Rao and Mitra considered a class of generalized inverses for square complex matrices. For $A \in \mathbb{C}^{n \times n}$, a matrix $X \in \mathbb{C}^{n \times n}$ satisfying

$$AXA = A \text{ and } \mathcal{R}(X) \subseteq \mathcal{R}(A), \tag{6}$$

is called a χ -inverse of A , where $\mathcal{R}(\cdot)$ denotes the range (column space); see [23, pp 15–16]. Clearly, (6) is equivalent to

$$AXA = A \text{ and } \mathcal{R}(X) = \mathcal{R}(A). \tag{7}$$

The necessary and sufficient condition for A to have χ -inverses is that $\text{Ind}(A) \leq 1$, and both the group inverse and Baksalary and Trenkler’s core inverse[1] are χ -inverses.

Every square complex matrix has minimal rank weak Drazin inverses, and every minimal rank weak Drazin inverse X of A satisfies

$$XAX = XA(A^k X^{k+1}) = (XA^{k+1})X^{k+1} = A^k X^{k+1} = X,$$

where $k = \text{Ind}(A)$, but in general $AXA \neq A$.

The next result shows the relationship between minimal rank weak Drazin inverses and χ -inverses.

Proposition 2.1. *Let $A, X \in \mathbb{C}^{n \times n}$. Then A has X as a χ -inverse if and only if $\text{Ind}(A) \leq 1$ and A has X as a minimal rank weak Drazin inverse.*

Proof. Suppose that X is a χ -inverse of A . Then by $\mathcal{R}(X) \subseteq \mathcal{R}(A)$ there exists $T \in \mathbb{C}^{n \times n}$ such that $X = AT$, and so by $AXA = A$, we can get $A = AXA = A^2TA$. It follows that $\text{Ind}(A) \leq 1$ (hence $A^\#$ exists). Therefore, we obtain

$$\begin{aligned} XA^2 &= ATA^2 = (A^\#A^2)TA^2 = A^\#(A^2TA)A = A^\#A^2 = A \\ \text{and } AX^2 &= AX(AT) = (AXA)T = AT = X, \end{aligned}$$

which imply that X is a minimal rank weak Drazin inverse of A .

Conversely, suppose that $\text{Ind}(A) \leq 1$ and X is a minimal rank weak Drazin inverse of A . Then we have $XA^2 = A$ and $\text{rank}(X) = \text{rank}(A^\#)$. Hence

$$AXA = AX(A^2A^\#) = A(XA^2)A^\# = A^2A^\# = A.$$

Also, since $\text{rank}(A^\#) = \text{rank}(A)$, we have $\text{rank}(X) = \text{rank}(A)$, which, together with $XA^2 = A$, imply that $\mathcal{R}(X) = \mathcal{R}(A)$. Therefore, X is a χ -inverse of A by the definition. \square

The next result can be deduced from [25, Proposition 2.7]. Here, we give its proof for the convenience of the reader.

Lemma 2.2. *If $X \in \mathbb{C}^{n \times n}$ is a minimal rank weak Drazin inverse of $A \in \mathbb{C}^{n \times n}$, then*

$$XA^D = (A^D)^2, \tag{8}$$

$$XAA^D = A^D, \tag{9}$$

$$A^DAX = X. \tag{10}$$

Proof. Let $\text{Ind}(A) = k$. Suppose that X is a minimal rank weak Drazin inverse of A . Then

$$\begin{aligned} XA^D &= X[A^{k+1}(A^D)^{k+2}] = (XA^{k+1})(A^D)^{k+2} = A^k(A^D)^{k+2} = (A^D)^2, \\ XAA^D &= XA^D A \stackrel{(8)}{=} (A^D)^2 A = A^D, \\ A^DAX &= A^D A (A^k X^{k+1}) = (A^D A^{k+1})X^{k+1} = A^k X^{k+1} = X. \end{aligned}$$

\square

The following result shows that minimal rank weak Drazin inverses not only have the same rank as the Drazin inverse, but are also similar to the Drazin inverse.

Proposition 2.3. *Let $X, A \in \mathbb{C}^{n \times n}$. Then X is a minimal rank weak Drazin inverse of A if and only if X is a weak Drazin inverse of A and is similar to A^D .*

Proof. The sufficiency is trivial. For the necessity, suppose that X is a minimal rank weak Drazin inverse of A , and let $P = I_n + AA^D - AX$, $Q = I_n - AA^D + AX$. Then

$$\begin{aligned} PQ &= (I_n + AA^D - AX)(I_n - AA^D + AX) \\ &= (I_n - AA^D + AX) + AA^D(I_n - AA^D + AX) - AX(I_n - AA^D + AX) \\ &= (I_n - AA^D + AX) + AA^D AX - (2AX - AXAA^D) \\ &\stackrel{(9),(10)}{=} (I_n - AA^D + AX) + AX - (2AX - AA^D) = I_n, \end{aligned}$$

and

$$\begin{aligned} QXP &= (I_n - AA^D + AX)[X(I_n + AA^D - AX)] \\ &= (I_n - AA^D + AX)XAA^D \\ &\stackrel{(9)}{=} (I_n - AA^D + AX)A^D = AXA^D \\ &\stackrel{(8)}{=} A(A^D)^2 = A^D, \end{aligned}$$

which completes the proof. \square

3. Jacobson's lemma and Cline's formula for minimal rank weak Drazin inverses

In this section, we study Jacobson's lemma and Cline's formula for minimal rank weak Drazin inverses of complex matrices. The results are first given for matrices over an arbitrary ring, and then applied to complex matrices.

For two matrices A and B over an arbitrary ring, $m \times n$ and $n \times m$, respectively, and for any integer $p \geq 0$, keep in mind that

$$A(BA)^p = (AB)^p A, \quad (11)$$

$$A(I_n - BA)^p = (I_m - AB)^p A. \quad (12)$$

According to [7, 13], if $I_m - AB$ is Drazin invertible (say with index k), then

$$[I_n + B(I_m - AB)^D A](I_n - BA)^{k+1} = (I_n - BA)^k, \quad (13)$$

although $I_n + B(I_m - AB)^D A$ is in general not the Drazin inverse of $I_n - BA$.

The following is a slight modification of (13).

Lemma 3.1. *Let A, B be $m \times n$ and $n \times m$ matrices over a ring R , respectively. If G is an $m \times m$ matrix over R such that $G(I_m - AB)^{k+1} = (I_m - AB)^k$ for some $k \geq 0$, then*

$$(I_n + BGA)(I_n - BA)^{k+1} = (I_n - BA)^k. \quad (14)$$

Proof. Suppose that $G(I_m - AB)^{k+1} = (I_m - AB)^k$. Then

$$\begin{aligned} (I_n + BGA)(I_n - BA)^{k+1} &= (I_n - BA)^{k+1} + BGA(I_n - BA)^{k+1} \\ &= (I_n - BA)^{k+1} + BG(I_m - AB)^{k+1} A \\ &= (I_n - BA)^{k+1} + B(I_m - AB)^k A \\ &= (I_n - BA)^{k+1} + BA(I_n - BA)^k = (I_n - BA)^k. \end{aligned}$$

\square

From Lemma 3.1 and its right-hand version, it follows that if $I_m - AB$ is Drazin invertible then so is $I_n - BA$, with $\text{Ind}(I_m - AB) = \text{Ind}(I_n - BA)$.

Lemma 3.2. *Let A, B be $m \times n$ and $n \times m$ matrices over a ring R , respectively. Then the following statements are equivalent:*

- (1) $I_m - AB$ is Drazin invertible;
- (2) $I_n - BA$ is Drazin invertible;
- (3) There exists an $m \times m$ matrix G over R such that $G(I_m - AB)^{k+1} = (I_m - AB)^k$ for some $k \geq 0$ and $(I_m - AB)G^2 = G$;
- (4) There exists an $n \times n$ matrix H over R such that $H(I_n - BA)^{k+1} = (I_n - BA)^k$ for some $k \geq 0$ and $(I_n - BA)H^2 = H$.

Proof. (1) \Leftrightarrow (2). It follows from the above discussion.

(1) \Rightarrow (3) and (2) \Rightarrow (4) are clear.

(3) \Rightarrow (1). Assume (3). It suffices to show that $(I_m - AB)^k = (I_m - AB)^{k+1}T$ for some matrix T over R . Since $(I_m - AB)G^2 = G$, we get $(I_m - AB)^{k+1}G^{k+2} = G$. Hence

$$\begin{aligned} (I_m - AB)^k &= G(I_m - AB)^{k+1} \\ &= (I_m - AB)^{k+1}G^{k+2}(I_m - AB)^{k+1} \\ &= (I_m - AB)^{k+1}[G^{k+1}(I_m - AB)^k], \end{aligned}$$

as desired.

(4) \Rightarrow (2) is similar to (3) \Rightarrow (1). \square

We remark that the implication (3) \Rightarrow (1) above is due to Hartwig [11].

Theorem 3.3. *Let A, B be $m \times n$ and $n \times m$ matrices over a ring R , respectively. If G is an $m \times m$ matrix over R such that $G(I_m - AB)^{k+1} = (I_m - AB)^k$ for some $k \geq 0$ and $(I_m - AB)G^2 = G$, then*

$$H := (I_n - BA)^k(I_n + BGA)^{k+1}$$

satisfies $H(I_n - BA)^{k+1} = (I_n - BA)^k$ and $(I_n - BA)H^2 = H$.

Proof. Suppose that $G(I_m - AB)^{k+1} = (I_m - AB)^k$ and $(I_m - AB)G^2 = G$. Then by Lemma 3.2, $I_n - BA$ is Drazin invertible. Therefore,

$$\begin{aligned} H(I_n - BA)^{k+1} &= H(I_n - BA)^{2k+1}[(I_n - BA)^D]^k \\ &= (I_n - BA)^k[(I_n + BGA)^{k+1}(I_n - BA)^{2k+1}][(I_n - BA)^D]^k \\ &\stackrel{(14)}{=} (I_n - BA)^k(I_n - BA)^k[(I_n - BA)^D]^k = (I_n - BA)^k \end{aligned}$$

and

$$\begin{aligned} (I_n - BA)H^2 &= (I_n - BA)H(I_n - BA)^k(I_n + BGA)^{k+1} \\ &= (I_n - BA)H[(I_n - BA)^{k+1}(I_n - BA)^D](I_n + BGA)^{k+1} \\ &= (I_n - BA)[H(I_n - BA)^{k+1}](I_n - BA)^D(I_n + BGA)^{k+1} \\ &= (I_n - BA)^{k+1}(I_n - BA)^D(I_n + BGA)^{k+1} \\ &= (I_n - BA)^k(I_n + BGA)^{k+1} = H. \end{aligned}$$

\square

For further calculations of H , the next two lemmas will be useful.

Lemma 3.4. Let A, B be $m \times n$ and $n \times m$ matrices over a ring R , respectively. If an $m \times m$ matrix G over R satisfies $G(I_m - AB)G = G$, then for any integer $p \geq 1$,

$$(I_n + BGA)^p = I_n + \sum_{i=1}^p BG^i A. \tag{15}$$

Proof. Since $G(I_m - AB)G = G$, we get $G(AB)G = G^2 - G$, which yields

$$GA(I_n + BGA) = GA + GABGA = GA + (G^2 - G)A = G^2 A.$$

It follows that

$$GA(I_n + BGA)^{p-1} = G^2 A(I_n + BGA)^{p-2} = \dots = G^p A,$$

and so

$$\begin{aligned} (I_n + BGA)^p &= (I_n + BGA)^{p-1} + BGA(I_n + BGA)^{p-1} \\ &= (I_n + BGA)^{p-1} + BG^p A. \end{aligned}$$

Therefore, by induction on p , we can get (15). \square

Lemma 3.5. [3] Let A, B be $m \times n$ and $n \times m$ matrices over a ring, respectively. Then for any integer $p \geq 1$,

$$(I_n - BA)^p = I_n - B \sum_{i=0}^{p-1} (I_n - AB)^i A.$$

Proof. Since

$$\begin{aligned} (I_n - BA)^p &= (I_n - BA)^{p-1} - BA(I_n - BA)^{p-1} \\ &= (I_n - BA)^{p-1} - B(I_n - AB)^{p-1} A, \end{aligned}$$

the result follows by induction on p . \square

Theorem 3.6. Let A, B be $m \times n$ and $n \times m$ matrices over a ring R , respectively. If G is an $m \times m$ matrix over R such that $G(I_m - AB)^{k+1} = (I_m - AB)^k$ for some $k \geq 0$ and $(I_m - AB)G^2 = G$, then

$$H := (I_n - BA)^k (I_n + BGA)^{k+1} = I_n + B \left(G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G] \right) A$$

satisfies $H(I_n - BA)^{k+1} = (I_n - BA)^k$ and $(I_n - BA)H^2 = H$.

Proof. By Theorem 3.3, it suffices to show

$$H := (I_n - BA)^k (I_n + BGA)^{k+1} = I_n + B \left(G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G] \right) A.$$

When $k = 0$, we have $G(I_m - AB) = I_m$ and $(I_m - AB)G^2 = G$, which imply that

$$\begin{aligned} (I_m - AB)G &= (I_m - AB)G[G(I_m - AB)] \\ &= [(I_m - AB)G^2](I_m - AB) = G(I_m - AB) = I_m. \end{aligned}$$

So $I_m - (I_m - AB)G = 0$, and the result follows. We next assume $k \geq 1$. Because

$$\begin{aligned} G(I_m - AB)G &= G(I_m - AB)[(I_m - AB)^k G^{k+1}] \\ &= [G(I_m - AB)^{k+1}]G^{k+1} = (I_m - AB)^k G^{k+1} = G, \end{aligned}$$

using Lemma 3.4, we obtain

$$\begin{aligned} H &= (I_n - BA)^k [I_n + B(G + \dots + G^k + G^{k+1})A] \\ &= (I_n - BA)^k + (I_n - BA)^k B(G + \dots + G^k + G^{k+1})A \\ &= (I_n - BA)^k + B(I_m - AB)^k (G + G^2 + \dots + G^{k+1})A. \end{aligned}$$

Since $(I_m - AB)G^2 = G$, it follows that

$$\begin{aligned} H &= (I_n - BA)^k + B[(I_m - AB)^k G + (I_m - AB)^{k-1} G + \dots + G]A \\ &= (I_n - BA)^k + BGA + B \sum_{i=0}^{k-1} (I_m - AB)^i [(I_m - AB)G]A. \end{aligned}$$

Therefore by Lemma 3.5,

$$\begin{aligned} H &= I_n - B \sum_{i=0}^{k-1} (I_m - AB)^i A + BGA + B \sum_{i=0}^{k-1} (I_m - AB)^i [(I_m - AB)G]A \\ &= I_n + B(G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G])A. \end{aligned}$$

□

Remark 3.7. If the matrix G in the above theorem also commutes with $I_m - AB$, then $G = (I_m - AB)^D$. Taking $\hat{G} = G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G]$, we can get $H = I_n + B\hat{G}A$, $(I_m - AB)\hat{G} = \hat{G}(I_m - AB)$, and hence

$$\begin{aligned} (I_n - BA)H &= I_n - BA + (I_n - BA)B\hat{G}A \\ &= I_n - BA + B(I_m - AB)\hat{G}A = I_n - BA + B\hat{G}(I_m - AB)A \\ &= I_n - BA + B\hat{G}A(I_n - BA) = (I_n + B\hat{G}A)(I_n - BA) = H(I_n - BA), \end{aligned}$$

which implies that $H = (I_n - BA)^D$.

But in general, $H \neq (I_n - BA)^D$. For example, let $A = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$, $B = I_2$ and $G = \begin{bmatrix} 1 & 1 \\ 0 & 0 \end{bmatrix}$. Then $I_2 - AB = I_2 - BA = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix}$ is of index 1, $G(I_2 - AB)^2 = I_2 - AB$ and $(I_2 - AB)G^2 = G$. But

$$H = (I_2 - BA)(I_2 + BGA)^2 = \begin{bmatrix} 1 & 2 \\ 0 & 0 \end{bmatrix} \neq (I_2 - BA)^D = I_2 - BA.$$

Applying Theorem 3.6 to complex matrices, we can get Jacobson’s lemma for minimal rank weak Drazin inverses.

Theorem 3.8. Let $A \in \mathbb{C}^{m \times n}$ and $B \in \mathbb{C}^{n \times m}$.

(1) If $G \in \mathbb{C}^{m \times m}$ is a minimal rank weak Drazin inverse of $I_m - AB$, then

$$(I_n - BA)^k (I_n + BGA)^{k+1} = I_n + B(G - \sum_{i=0}^{k-1} (I_m - AB)^i [I_m - (I_m - AB)G])A$$

is a minimal rank weak Drazin inverse of $I_n - BA$, where $k = \text{Ind}(I_m - AB)$.

(2) If $G \in \mathbb{C}^{m \times m}$ is a χ -inverse of $I_m - AB$, then

$$(I_n - BA)(I_n + BGA)^2 = I_n + B(G - [I_m - (I_m - AB)G])A$$

is a χ -inverse of $I_n - BA$.

Proof. (1). It follows from Theorem 3.6 applied to $R = \mathbb{C}$.

(2). It follows from Proposition 2.1 and (1) applied to $k \leq 1$. □

Although $I_m - AB$ and $I_n - BA$ always have the same index when they are Drazin invertible, the situation is slightly different for AB and BA . Due to Cline [5], AB is Drazin invertible if and only if so is BA , and their indices differ at most by unit, and their Drazin inverses can be related by

$$(BA)^D = B[(AB)^D]A. \quad (16)$$

This equation is known as Cline's formula.

In closing this paper we give the corresponding version of Cline's formula for minimal rank weak Drazin inverses.

Lemma 3.9. *Let A, B, G be $m \times n, n \times m$ and $m \times m$ matrices over a ring, respectively.*

- (1) *If $G(AB)^{k+1} = (AB)^k$ for some $k \geq 0$, then $(BG^2A)(BA)^{k+2} = (BA)^{k+1}$.*
- (2) *If $ABG^2 = G$, then $BA(BG^2A)^2 = BG^2A$.*

Proof. (1). If $G(AB)^{k+1} = (AB)^k$, then

$$(BG^2A)(BA)^{k+2} = BG^2[A(BA)^{k+2}] = BG^2(AB)^{k+2}A = B(AB)^kA = (BA)^{k+1}.$$

- (2). If $ABG^2 = G$, then $BA(BG^2A)^2 = B[(ABG^2)(ABG^2)]A = BG^2A$. \square

Proposition 3.10. *Let $A \in \mathbb{C}^{m \times n}$ and $B \in \mathbb{C}^{n \times m}$. If $G \in \mathbb{C}^{m \times m}$ is a minimal rank weak Drazin inverse of AB , then BG^2A is a minimal rank weak Drazin inverse of BA .*

Proof. Suppose that G is a minimal rank weak Drazin inverse of AB . Then $G(AB)^{k+1} = (AB)^k$ for some $k \geq 0$ and $ABG^2 = G$. By Lemma 3.9, we have $(BG^2A)(BA)^{k+2} = (BA)^{k+1}$ and $BA(BG^2A)^2 = BG^2A$, which imply that BG^2A is a minimal rank weak Drazin inverse of BA . \square

References

- [1] O.M. Baksalary, G. Trenkler, Core inverse of matrices. *Linear Multilinear Algebra*, 2010, 58(6): 681–697.
- [2] S.L. Campbell, C.D. Meyer, Weak Drazin inverses. *Linear Algebra Appl.*, 1978, 20(2): 167–178.
- [3] N. Castro-González, C. Mendes-Araújo, P. Patrício, Generalized inverses of a sum in rings. *Bull. Aust. Math. Soc.*, 2010, 82(1): 156–164.
- [4] H.Y. Chen, M.S. Abdolyousefi, Generalized Jacobson's lemma in a Banach algebra. *Comm. Algebra*, 2021, 49(8): 3263–3272.
- [5] R.E. Cline, An application of representations for the generalized inverse of a matrix. *Tech. Summary Report No. 592*, Math. Res. Center, U.S. Army, University of Wisconsin, Madison, 1965.
- [6] G. Corach, B. Duggal, R. Harte, Extensions of Jacobson's lemma. *Comm. Algebra*, 2013, 41(2): 520–531.
- [7] D. Cvetković-Ilić, R. Harte, On Jacobson's lemma and Drazin invertibility. *Appl. Math. Lett.*, 2010, 23(4): 417–420.
- [8] D. Cvetković-Ilić, Y.M. Wei, *Algebraic Properties of Generalized Inverses*. Springer, Singapore, 2017.
- [9] M.P. Drazin, Pseudo-inverses in associative rings and semigroups. *Amer. Math. Monthly*, 1958, 65: 506–514.
- [10] D.E. Ferreyra, F.E. Levis, A.N. Priori, N. Thome, The weak core inverse. *Aequationes Math.*, 2021, 95(2): 351–373.
- [11] R.E. Hartwig, Spectral inverses and the row-space equations. *Linear Algebra Appl.*, 1978, 20(1): 57–68.
- [12] T.Y. Lam, *Exercises in Classical Ring Theory*, 2nd edition. Springer-Verlag, New York, 2003.
- [13] T.Y. Lam, P.P. Nielsen, Jacobson's lemma for Drazin inverses. *Ring theory and its applications*, 185–195, *Contemp. Math.*, 609, Amer. Math. Soc., Providence, RI, 2014.
- [14] T.Y. Lam, P.P. Nielsen, Inner inverses and inner annihilators in rings. *J. Algebra*, 2014, 397: 91–110.
- [15] S.B. Malik, N. Thome, On a new generalized inverse for matrices of an arbitrary index. *Appl. Math. Comput.*, 2014, 226: 575–580.
- [16] X. Mary, Weak inverses of products—Cline's formula meets Jacobson lemma. *J. Algebra Appl.*, 2018, 17(4): 1850069, 19 pp.
- [17] V.G. Miller, H. Zguitti, New extensions of Jacobson's lemma and Cline's formula. *Rend. Circ. Mat. Palermo (2)*, 2018, 67(1): 105–114.
- [18] D. Mosić, Extensions of Jacobson's lemma for Drazin inverses. *Aequationes Math.*, 2017, 91(3): 419–428.
- [19] D. Mosić, On Jacobson's lemma and Cline's formula for Drazin inverses. *Rev. Un. Mat. Argentina*, 2020, 61(2): 267–276.
- [20] P. Patrício, R.E. Hartwig, The link between regularity and strong- π -regularity. *J. Aust. Math. Soc.*, 2010, 89(1): 17–22.
- [21] P. Patrício, A. Veloso da Costa, On the Drazin index of regular elements. *Cent. Eur. J. Math.*, 2009, 7(2): 200–205.
- [22] K.M. Prasad, K.S. Mohana, Core-EP inverse. *Linear Multilinear Algebra*, 2014, 62(6): 792–802.
- [23] C.R. Rao, S.K. Mitra, *Generalized Inverses of Matrices and its Applications*. Wiley, New York, 1971.
- [24] H.X. Wang, J.L. Chen, Weak group inverse. *Open Math.*, 2018, 16(1): 1218–1232.
- [25] C. Wu, J.L. Chen, Minimal rank weak Drazin inverses: a class of outer inverses with prescribed range. *Electron. J. Linear Algebra*, 2023, 39: 1–16.
- [26] K. Yan, Q.P. Zeng, Y.C. Zhu, Generalized Jacobson's lemma for Drazin inverses and its applications. *Linear Multilinear Algebra*, 2020, 68(1): 81–93.
- [27] G.F. Zhuang, J.L. Chen, J. Cui, Jacobson's lemma for the generalized Drazin inverse. *Linear Algebra Appl.*, 2012, 436(3): 742–746.